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I History of the (m)namn
a  n17’7nam in 05w was made of stones (not copper-covered earth, as in 1own)
i source: vv. 1-3, 3 mentions of D2ar nam allude to oYW Pyay/an ,n»w
ii  challenge: tradition that the fire that descended at dedication of 19vn didn’t cease untilnnv’s time
1 defensel: that tradition follows jm "1 — the nam at n%w was copper-covered (as j2vn)
2 defense2: “didn’t cease” means it remained there (on the side) and the fire stayed there
(a) meaning: it shot out from nwn’s altar to the new one
(b) or: it was like a visitor, sometimes on the new (nnYw’s) altar, sometimes on the old one
b N2 177 the returnees from Y11 added 4 mnk on each of the west and south sides (like aI')
i reason: qov 11 (1% explanation) — it wasn’t big enough for their nuavp
1 challenge (7ax): v. 4 ("n5v) describes a large population; v. 5 defines a small (40K) population during j»¥ naw
2 defense (9017 27): in ORI N1, they had a heavenly fire to help them (make n27yn hot enough); not so now
ii  alternative explanation (from 8797 73): they added the o301 drains on top
1 originally: read nNTR N2t as meaning that it has to be sealed with dirt (no holes)
2 then: they equated “drinking” (of m’50v) to “eating” (devouring m21p) = must be devoured atop
(a) and: meaning of nnTR nam — that it must be built on earth (i.e. bedrock) — no tunnels underneath
iii 901 37(#2): that is the meaning of v. 6 —that they identified the furthest legitimate reach of the nam
1 challenge: v. 7 disallows any modifications to the wTpn precincts
(a) answer: they discovered new meaning in v. 8, equating building to nam — both 60 mnx
iv  question: how did they identify the locus of the nam (easy to ID the n»a — from foundations)
1 answerl: they were shown in a vision (98271 offering 127p, pn¥’s ashes)
2 answer2: they could smell the n2ar n» in that place (everywhere else — nmopn n»)
3 answer3: the 3 DR»11 ("a8YM 17101 ,%N) who came with them from %11 showed them
(a) one: that the nam may be enlarged (per above)
(b) two: the location of the nam
(c) three: that n117p may be offered in absence of n»a
4 alternate (»7ax7): 1 showed them about nam (size&place); 1 about offering w/o n»a and 1 — mmwx an3 for N
II'  Those components of the narn that are indispensible and those that are not
a  Indispensible: 12" ;107,01 1P
i Source (¥1177179):v.9 (et al) — anywhere it states narnpn, that component is 20yn
ii  Challenge: 993 (fresco), according to »a7 and the 1210 (to »”1»7) should be 25vn, per v. 10 (meaning of 21373 — cornice)
1 Answer: indeed, as per Rn»11 where »"27 adds 2210 to components of narn which are 10yn
2 Tangential 817273 placement of 21973 — between mi»p and where o113 walk (on narn)
(a) Challenge: v. 11 has placement below
(b) Answer: there are two — one for aesthetics; other to keep 2113 from slipping
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b Dispensible: length, width, height
i Note: as long as it isn’t smaller than nwn’s nam
1 9o 27 meaning - 1 nnr
2 Reaction: students ridiculed his comment based on v. 9 (5x5)
3 Defense (»aK): qov 171 was referring to the space of the na>yn
(a) 9o a7 applauded »ar’s understanding and ridiculed students, calling them nmvp 71 (v. 12)
(i) Tangent: v"'s nephews (who knew little) were studying with him; he deliberately misread v. 13,
calling her »1y; when they corrected him (one of the few things they knew), he called them n1op »2
¢ Tangent: size of logs nwn prepared for narn — 1x1 nny, thickness of sweeping board
i Source:v.14 - that the wood should not go over the edge of the nam (1x1 space for na7yn)
III Placement of was and its dimensions
a 22570 w11 was on the south side, 32 mnx long x 16 wide.
i Source (for location): v. 15 — north is “leg” > south is “face”
1 Explanation (¥27): like a man lying down (legs splayed in back, face front
2 Challenge (7aX): why not read like a man sitting up? (legs and face on same side)?
(a) Answer: nam is described as 127 (read y121 - lying down)
(i) Challenge: »131 means “squared” — needed for law of y127
(if) Answer: if so, would’ve said ya1in — 127 implies lying down
1. Challenge: then should say a7
2. Answer (X837): that’s why it says 127 — to imply both “squared” and “lying down”
ii  Alternate source (7777 237in 817773): v. 16 implies — all turns (to the right) are to the east (only if coming up from S)
1 Challenge: perhaps we turn left to the east? (coming up from N)
2 Answer: per v. 17 (nn>w v °) use of 074 (x4) = this is the direction to turn — to the right (follow the circle)
b Space between wayand narp: question asked about "aw7’s statement that there is airspace between the two
i Support:v.18;just as n1is “thrown”, so too, w1 is “thrown” (from w13) - must be separated from n>yn-space
1 Challenge: perhaps he throws it right next to n>1yn
2 Answer: it's too hot to stand right there and throw it in
(a) Challenge: but that’s due to it being (nearly) impossible — text must be coming to establish air space
ii  Alternate derivation from v18 (97): 9w3, like 17, is thrown from a spot divided from its target by air
¢ 71 a1 there were 2 mini-ramps coming out next to w13 - 1 going to 119, other to Mo
i And:they were separated by a hair’s breadth from the wa>
i Source:v.15-110
1 Justification: " n had to describe as both 17 and 2720
(a) If: only wrote 2720, we would have imagined it to be round
(b) And if: only wrote 117, would’ve imagined a rectangle
d 2770 w13 and nam together are 62 long
i Challenge: should be 64 (32+32)
ii  Answer: w13 passes over the nnR of the 1170 and the nnx of the o2
e  Therise (8o 72 >07): the two small mwad rise at a rate of 1 nnR to 3 in length
i Except: main w13 (because 03 are carrying heavy n»1aR, need more gradual slope) — 3.5 (+1.3 fingers) per nnx
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